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data {
int N;
intk; « ——
}
parameters {
real<lower = 0.0, upper = 1.0> theta;
}
model { P(0)
theta ~ beta(1.0, 1.0); *
k ~ binomial(N, theta); « -~ P(D|®)
}
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import pystan; import numpy as np
import matplotlib.pyplot as plt
Stan_Code ="""
data {
int N;
int k;
}
parameters {
real<lower = 0.0, upper = 1.0> theta;
}
model {
theta ~ beta(1.0, 1.0);
k ~ binomial(N, theta);
}

sm = pystan.StanModel(model_code = Stan_Code)
fit = sm.sampling(data = {'N":10, 'k":7}, n_jobs = 1)
print(fit)

plt.hist(fit['theta'])
plt.savefig('FigStanSample.png'); plt.show()
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sm = pystan.StanModel(model_code = X 7 U 7" k 3XF51))

sm = pystan.StanModel(file =StanX 7 U 7" b 7 7 A L Z)
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fit = sm.sampling(data = 7 — &, n_jobs = 1)
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https://pystan2.readthedocs.io/en/latest/api.html

class pystan.StanModel(file=None, charset="utf-8', model_name="anon_model’, model_code=None,
stanc_ret=None, include_paths=None, boost_lib=None, eigen_lib=None, verbose=False,
obfuscate_model_name=True, extra_compile_args=None, allow_undefined=False, include_dirs=None,
includes=None)  [source]

sampling(data=None, pars=None, chains=4, iter=2000, warmup=None, thin=1, seed=None, init="random’,
sample_file=None, diagnostic_file=None, verbose=False, algorithm=None, control=None, n_jobs=-1,
**kwargs)  [source]
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